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Zo2ZH=E= 2N 288
zEsdMEFA
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- _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2

Al 1,000,000
& 450,000

308 XHXIEH SO0l A 1,450,000 1,450,000 0
Xl 1,000,000
&< 450,000

01 AIKSHHEMNEX= 1,450,000 1,450,000 0
[(I23ESIRN A X LH AN (KN ESHI|) 1,450,000
Xl 1,000,000
& 450,000

StEXEAHE 3,900,000 6,500,000 A 2,600,000
= 3,000,000
=} 900,000

403 XX SRS K20 & 3,900,000 6,500,000 A 2,600,000
2 3,000,000
& 900,000

01 AXESHHI=2E X 3,900,000 6,500,000 A 2,600,000
Ot sXsa A 3,900,000
= 3,000,000
& 900,000

2IMI DI E IR S 600,000 600,000 0
= 300,000
o= 300,000

308 XXIEHSOIA 600,000 600,000 0
= 300,000
o= 300,000

01 AIXSHMENMNEX= 600,000 600,000 0
O21MI I 20X = 600,000
= 300,000
& 300,000

el ) el B SPIEPN | 17,685,017 14,510,767 3,174,250
= 292,783
N 13,004,000
& 4,388,234

ZBENBAY 8,980,000 3,645,000 5,335,000
N 7,200,000
& 1,780,000

403 XX SHHS K20 & 8,980,000 3,645,000 5,335,000
Xl 7,200,000
& 1,780,000

01 XIS A=Z2E X 8,980,000 3,645,000 5,335,000
OO SAE A (SSs22)HE (NETH]) 1,680,000
N 1,200,000
& 480,000
OZMS2XRAEMZHE(NEZH|) 1,300,000
Xl 1,000,000
& 300,000




AR SHBBAUS2 SA 2etEgAY
g osdAEFA
el 2ot g F (&)
L=
A SA - SAEA) - MRAY - BES 0l &t o il HImEET
O sgcM2A8 (RSEZH!) 3,800,000
Xl 3,200,000
< 600,000
ONFUMHSH22A (RS EH) 1,000,000
X 800,000
< 200,000
OF0ILEZCN2AE (XSEHI) 1,200,000
Xl 1,000,000
< 200,000
SSTM22NZ2AUAFT2H 216,817 216,817 0
= 166,783
< 50,034
308 XXM SOIA 216,817 216,817 0
= 166,783
< 50,034
01 IXNHHBMNEES 216,817 216,817 0
OBSEMSNSAZAT2SH 216,817
= 166,783
= 50,034
SRS FE 307,500 439,000 A 131,500
202 4l 9,000 12,000 A 3,000
01 = LH 4 Hi 9,000 12,000 A 3,000
D238t 2 =804l 9,000
308 XX EHSOIA 109,500 112,000 A 2,500
01 HIXNHHNBMNEELES 109,500 112,000 A 2,500
OstdUitsEA22E X 27,000
OZ3=2ENEASSEHASXRA 51,000
OZSENCN2SEEENMEATH 31,500
403 MRS E X201 E 189,000 310,000 A 121,000
01 XM A=2EE 189,000 310,000 A 121,000
OS2 EARLHXA 189,000
SEYUSAHSE N 5,350,000 4,863,250 486,750
Xl 4,604,000
< 746,000
403 A X EHHS =0l A 5,350,000 4,863,250 486,750
Xl 4,604,000
< 746,000
01 X HHMA=ZLE L 5,350,000 4,863,250 486,750
Ol g2A (NSZHl) 470,000
Xl 324,000
< 146,000
O lSsSEIMAEZ2HAY (NS ZH]) 4,500,000
Xl 4,000,000
< 500,000
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A 2o2ZAH=E2 A 2 EAY
Hu: 23 SHALEN
el B SLEIA (=& J)
R.RN-ZE-E(HH) - HRAY - BES il Hl D = 2t
OZ=S232E I MEH XA 200,000
OXNGSAEHEZ2NHASHRIAS 20,000
DAEEHME22IAY 20,000
O2gor2g 48,000
OJZ=szs2d=s2223 200,000
403 XAXISHM S K201 A 60,000 0 60,000
01 AXSHMA2E =R 60,000 0 60,000
JIAdH2Ho2AIEHMH 60,000
Nedstaxy 585,000 650,000 A 65,000
X 450,000
= 135,000
403 XAtXISHM S K20l ™ 585,000 650,000 A 65,000
Xl 450,000
= 135,000
01 X SHHMA 28X 585,000 650,000 A 65,000
Oxegds2r4d(23)(ANS<Hl) 325,000
Xl 250,000
= 75,000
gxasgdstard(8d)(Ns<hl) 260,000
X 200,000
= 60,000
ZE=D20tH2Y ,200,000 ,440,000 A 240,000
= ,000,000
= 200,000
308 AXIEH S0l ,200,000 ,440,000 A 240,000
= ,000,000
< 200,000
01 IXNHHBANEES ,200,000 ,440,000 A 240,000
OZe=32c|otH=2F X2 ,200,000
= ,000,000
< 200,000
FoaA I EMAT X ,640,400 ,659, 300 6,981,100
Xl ,800,000
< ,840,400
A2 E WA ,670,800 , 159,300 1,511,500
201 2Bt Ayl 30,000 358,000 328,000
01 At 2t 2|l 30,000 358,000 A 328,000
[Jet=ZH| 30,000
OAJZENATFTANROUSHES 30,000
202 oddl 15,000 12,000 3,000
01 =2LHAOYI 15,000 12,000 3,000
A3 ENATARFAAL] 15,000
203 R =&l 4,300 4,300 0
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M ox
40 5 4
M0 HO MO

SHAMLERN
AIRCAATER

2 - 4
SN ZH-SA(EA) - HRAY 0l &t o8 il HlnE2
Al 2,800,000
= 2,600,000
308 XXIEH S0 A 5,400,000 0 5,400,000
Xl 2,800,000
= 2,600,000
01 HIXNHHBNEES 5,400,000 0 5,400,000
OSNe-ZFHMHS3AAZL2017H ALK
T Hl) 5,400,000
X 2,800,000
= 2,600,000
HY2IZH (BAsLHASEH) 38,780 37,440 1,340
Jl=234l 38,780 37,440 1,340
Jl23Hl 38,780 37,440 1,340
201 Let249] 27,280 26,440 840
01 At 22l 27,280 26,440 840
R=REIEs =1l 13,000
OMNRESLLAEEFFAS 10,000
Ot =sdEM7YHIE 3,000
mE=3=1:] 14,280
OssdIRFIgAHl 14,280
202 Odl 11,500 11,000 500
01 =S LHA YI 11,500 11,000 500
O=stedgS=3 0 11,500




N = 0l & At & Ml A

A= 2o FHE= PN 2aRAD
Yy MESsgaoiNReEEe
Sl SRS F CERED
2 - 4
AR RN FH - G(8H) - MEAY 0l &t o il HImEET
E o= A D 98,829,058 101,577,198 A2,748,140
= 61,721,235
Xl 7,995,000
J| 5,562,964
< 23,549,859
SZSFAMAMAHBEE 2 98,790,798 101,539,778 A2,748,980
= 61,721,235
Xl 7,995,000
J| 5,562,964
< 23,511,599
23 ME+FHI 69,617,339 75,163,547 A5,546,208
= 55,348,905
< 14,268,434
E}ME=FHIFA 31,735 32,100 A 365
201 2et2d]| 6,935 7,300 A 365
01 At 2teltl 6,935 7,300 A 365
Opt=2Hl 6,935
ORI ME+ZHFTAR S 6,935
202 044l 20,000 20,000 0
01 = LH o4 1l 20,000 20,000 0
D23 ME+=HH =&l 20,000
203 &2 =&l 4,800 4,800 0
03 AIHZ=XH R =AH| 4,800 4,800 0
Ozst2elERFa 4,800
SIKNE 2 MES(SE2LIH 200,000 0 200,000
= 140,000
< 60,000
307 glz2tol & 200,000 0 200,000
= 140,000
< 60,000
02 It M AHEE 200,000 0 200,000
OsSEd8AES 292 LIH 200,000
= 140,000
< 60,000
SIRNE 2 ME S (XE) 62,835,604 66,062,447 A 3,226,843
= 55,208,905
< 7,626,699
403 XIS E X201 & 62,835,604 66,062,447 A 3,226,843
= 55,208,905
< 7,626,699
01 X SHHAN2E= 62,835,604 66,062,447 A 3,226,843
O=2tNE 2 ME = 62,835,604
= 55,208,905
= 7,626,699




M ox
40 5 4

HO 2 MO
for o to

= [

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
EXNZE=2ME = 6,300,000 8,560,000 A 2,260,000
403 UHXISHHSA=0l& 6,300,000 8,560,000 A 2,260,000
01 XM= E L 6,300,000 8,560,000 A 2,260,000
OEXNE23ME= 6,300,000
ML =2+ 250,000 250,000 0
403 XSS A=0l& 250,000 250,000 0
01 XM A2E X 250,000 250,000 0
O23 M2+ 250,000
EIMESAA 10,600,387 9,175,136 1,425,251
= 1,361,330
J| 5,562,964
=) 3,676,093
ZHMESKNAFE 11,750 11,750 0
201 et 3,650 3,650 0
01 At 22l 3,650 3,650 0
Opt=ZHl 3,650
ORI MESKNIAFIARESHLHS 3,650
202 o4dl 8,100 8,100 0
01 = LH 4 Hi 8,100 8,100 0
O3 MES K& FA Y| 8,100
SMAZ0I2SHI XA 46,350 45,000 1,350
308 XtXIEHH SOl A 46,350 45,000 1,350
01 AXHHBIYEES 46,350 45,000 1,350
OEZstMXZ0l&gsHl X2 46,350
SR IS el K2 55,000 55,000 0
= 55,000
308 MtXIEHSOIH 55,000 55,000 0
= 55,000
01 HXNHHNBHEELS 55,000 55,000 0
O=SMat2e] 55,000
= 55,000
S MMHGLTAIE 2= 1,935,024 1,968,590 A 33,566
J| 1,655,095
S 279,929
403 UHXSHHSA=0l& 1,935,024 1,968,590 A 33,566
J| 1,655,095
< 279,929
01 HXSHMA=2E X 1,935,024 1,968,590 A 33,566
OS2 HMHLXAIASE RS 1,935,024
J| 1,655,095
< 279,929




A= 2BBAS= FA ZetR e
B HESUASMANHNEE2L
Sel: SHYLEN CERED
L=
AR .24 FHH .G (3H) - HEAY - BES Ol &F o4 ﬁlgﬁ HRE2
S ML THAIE S X 22 X & 939,608 721,411 218,197
J| 832,564
& 107,044
308 XAHXIEHSOIA 939,608 721,411 218,197
Jl 832,564
= 107,044
01 AIXSHMENMNEX= 939,608 721,411 218,197
23 L XAl A S S X 22| 939,608
J| 832,564
=} 107,044
CANEESIMMHEXAIAE 2= 200,000 200,000 0
403 XX SHHS K20 & 200,000 200,000 0
01 MXHAMAEBE = 200,000 200,000 0
OSXNE23HN G X AAE RS 200,000
St A KX L E=2 2,205,795 2,095,328 110,467
J| 1,696,770
=} 509,025
308 MXISHMSOIA 2,205,795 2,095,328 110,467
J| 1,696,770
= 509,025
01 XHHIMNEEXTZ 2,205,795 2,095,328 110,467
OS23HHetM A H| ol & Bl X 2,205,795
J| 1,696,770
= 509,025
AESot&e 258,000 770,000 A 512,000
307 2Iz2t0| & 108,000 120,000 A 12,000
02 DIZIEAAIRE E X 108,000 120,000 A 12,000
OESFREINIAASUAINHTI M ALY 108,000
308 XHXIEH SO0l & 150,000 150,000 0
10 2| 2SHUSHE A XA H] 150,000 150,000 0
OIMEEM =X & 150,000
SSMH=E=S ALY 2,757,070 2,388,954 368, 116
J| 1,378,535
& 1,378,535
307 QI2t0| ™ 2,757,070 2,077,574 679,496
J| 1,378,535
& 1,378,535
02 QI2tAAMAIE E =X 2,757,070 2,077,574 679,496
O=stssAg 2,757,070
J| 1,378,535
== 1,378,535
S MHAA 2RSSR (ZXEH) 161,229 252,000 A90,771




A= 2o FHE= PN 2aRAD
FM: MNSEFMAMAZTEE 2
??: 2AMESXH (&)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
308 X EHSOIA 161,229 132,000 29,229
01 HIXNHHBHNEELES 161,229 132,000 29,229
OEXNE23MEE 2l XA 161,229
A ZSHTH A 535,500 297,500 238,000
= 306,000
< 229,500
308 XXM SOIA 535,500 297,500 238,000
2 306,000
< 229,500
01 AXHHBISEES 535,500 297,500 238,000
[ 2 o THAHS 535,500
= 306,000
< 229,500
SWMNMAZSTHEE AL 619,050 352,500 266,550
= 412,700
= 206,350
308 MtXIEHMSOIH 619,050 352,500 266,550
2 412,700
= 206,350
01 HXNHHNBHELS 619,050 352,500 266,550
O&Ot=sd=8n M3 A 619,050
= 412,700
< 206,350
A= AHRI =S ALR & 16,511 16,511 0
= 14,630
= 1,881
308 XX EHSOIA 16,511 16,511 0
= 14,630
< 1,881
01 HIXNHHNBNEELS 16,511 16,511 0
OXHFAQISBHALX R 16,511
2 14,630
< 1,881
EstMorHEZ O H 675,000 0 675,000
= 450,000
< 225,000
308 XXIEHHSOIA 675,000 0 675,000
2 450,000
< 225,000
01 AXHHBILEES 675,000 0 675,000
22 OF & AFY 675,000
= 450,000
= 225,000
HELALZ S THE E ALY 184,500 0 184,500
= 123,000




o2 HE= fMd 1 23R4t
HEERMANMARZEE 2
S}MESKH (=& J)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
< 61,500
308 XXM S0 A 184,500 0 184,500
= 123,000
< 61,500
01 IXNHHBNEES 184,500 0 184,500
ONSLUAZSIHES ALY 184,500
= 123,000
< 61,500
FEEIMA A 1,339,580 1,884,250 A 544,670
= 611,000
< 728,580
PE2SMAAF=E 15,630 15,630 0
201 et 3,650 3,650 0
01 At 22l 3,650 3,650 0
[Jget==Hl 3,650
OFERFMANIFIMNEREEH S 3,650
202 oddl 11,980 11,980 0
01 = LH o4 1l 11,980 11,980 0
RS2 M =AY 11,980
P MESK A 525,000 511,400 13,600
308 XXIEHHSOIA 525,000 511,400 13,600
01 XML EES 525,000 511,400 13,600
DRSS MISHBAMXR 100,500
OREEIMERNSAE 340,500
RS MEREHIE 66,000
OotsXHE =030 AtHI XTI & 18,000
dns2tHgy 754,000 1,352,000 A 598,000
= 580,000
< 174,000
403 MtXSHHSA=0l& 754,000 1,352,000 A 598,000
= 580,000
< 174,000
01 XM A=2E X 754,000 1,352,000 A 598,000
O3FRERIMEsDS2HAF 650,000
= 500,000
< 150,000
OdsYsdsusadSEINR 104,000
= 80,000
< 24,000
drn=sE28 45X & 44,950 5,220 39,730
= 31,000
< 13,950
308 XXM S0 A 44,950 5,220 39,730
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AR S22 2N 23Kt
HM: MNESS2ISAMAMAEE =22
S BSMKHYLA DAL CERED
- i - o
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
OS NN AN (=L HLHM) (NS5
) 750,000
N 500,000
= 250,000
MAIR A Z= B2 ALY (B2 2 S ALDHS) 1,372,343 0 1,372,343
=2 1,216,000
& 156,343
403 XX SHS K20 & 1,372,343 0 1,372,343
= 1,216,000
= 156,343
01 XIS A2E X 1,372,343 0 1,372,343
ONHSMEBEE2ACAIS (B2 A AIOE) 1,372,343
= 1,216,000
=} 156,343
MASAMEBUAS DALY (22 AADIS) 513,500 0 513,500
= 395,000
& 118,500
308 XAHXIGHH SO0l & 513,500 0 513,500
= 395,000
& 118,500
01 IXHHIMNEXS 513,500 0 513,500
OHAHSAMEZLS S ALY (SH=29HAIOIS) 513,500
= 395,000
o= 118,500
MHRAMSEUE LAY (S22 DER A 685, 100 0 685,100
= 527,000
o= 158,100
308 AMXISHMSOIA 685, 100 0 685, 100
= 527,000
= 158,100
01 AIXSHMENEXZ 685,100 0 685,100
OHHASMEZAIIPIREAZMNEEDNSAIE 165,100
= 127,000
& 38,100
O2017M1AXEHI H S M EZAI DI HAHESE 520,000
= 400,000
= 120,000
HAISNSALTUSSALAY 1,300,000 0 1,300,000
2 600,000
= 700,000
403 XX SRS K20| & 1,300,000 0 1,300,000
= 600,000
= 700,000
01 AXESHH=E2E X 1,300,000 0 1,300,000
D22 UEALZUSEAL ALY 1,300,000
2 600,000




o2 HE= fMd 1 23R4t
HEERMANMARZEE 2
SAMNIHIL AR 2L (SH9 &)
2. 2A B E(AN) - MEAY - BYS 0l &t o8 il HlnE2
| < 700,000
HARMEESSHAX AL (S22 S AHA}) 30,000 30,000
= 30,000
308 XXX S0 A 30,000 30,000
= 30,000
01 HIXNHHNBHEES 30,000 30,000
OHHARMSESSARIAAN (B2 HSA
Ab) 30,000
= 30,000
HASLUERSEARX ALY (OO E2) 26,000 26,000
= 20,000
< 6,000
308 XX EHH SOl A 26,000 26,000
= 20,000
< 6,000
01 AXSHBLELS 26,000 26,000
OHHARSUEESSARTNJAG (Ot0kD22) 26,000
= 20,000
< 6,000
HAHARSAEESESHARI A (S22 M) 32,000 32,000
= 32,000
308 XXM SO0 A 32,000 32,000
= 32,000
01 HIXNHHBNEES 32,000 32,000
OMASMEESSARXIAMNG (BI2AMHA) 32,000
= 32,000
oAt RN Y 2,874,500 2,768,000
Xl 2,175,000
< 699,500
EoFoEEXA 47,500 A 59,000
307 glz2+ol & 7,000 A 500
02 RIZFEA MM E X 7,000 A 500
JZEEdMAEZHME 7,000
308 XX EHH SOl A 40,500 A 58,500
01 AXSGHBLELS 40,500 A 58,500
OXsSCeE0SHMEREEEZ Y 15,000
Ouaadzaradsod 12,000
D2ssAdHIGAZZ OS2 13,500
ANA 23RN (HS) 1,625,000 1,625,000
Xl 1,250,000
< 375,000
403 Ut SHHSA=0l& 1,625,000 1,625,000
Xl 1,250,000




HO 2 [Ho

st == 2N 23R
SZAFMAMAZTEE 2
St 22 TR

- _ _ RE]
2.2 HE B (EH) - NEAY - BES %Eﬁ HR=2
= 375,000
01 XIS A=Z2E X 1,625,000 0 1,625,000
oSS HAMIA0ALEKA(XNETH]) 1,625,000
Xl 1,250,000
o= 375,000
KNG2eS A (200) 1,072,000 0 1,072,000
N 825,000
= 247,000
403 XX SRS R 20| & 1,072,000 0 1,072,000
N 825,000
& 247,000
01 MHXSHAHXNE2E X 1,072,000 0 1,072,000
OF0NSHMIF=HEY|(NEZH|) 1,072,000
Xl 825,000
= 247,000
KNE2eS e (9A) 130,000 0 130,000
Xl 100,000
& 30,000
403 XX SHHS K20 & 130,000 0 130,000
Xl 100,000
& 30,000
01 IS A2 X 130,000 0 130,000
9L DANIES2oHAL2SALAH E (X
ECH|) 130,000
Xl 100,000
& 30,000
SUADZMASMSHF=E 380,000 0 380,000
IIOFDNEEZMAKSAMASEHMFA 300,000 0 300,000
308 AMXISHMSOIA 300,000 0 300,000
07 MIXSHHMZ2AREEE S 300,000 0 300,000
OJIODE2ZHAHARABSSSHFTA 300,000
SI2ZONMBNAHRAMAS =R 80,000 0 80,000
308 XX G M SO0l A 80,000 0 80,000
01 AIXSHMEMNEX= 80,000 0 80,000
Ot29 MASUADANHSMASHZ=E 80,000
AANE2SEAIEH 7,634,143 9,485,000 A 1,850,857
= 1,580,000
N 4,820,000
& 1,234,143
ANTESII AN 5,851,000 7,228,000 N 1,377,000
Xl 4,820,000
& 1,031,000
403 XX SHHS K20 & 5,851,000 7,228,000 A 1,377,000
Xl 4,820,000




A= 2BBAS= FA ZetR e
HM: MNESS2ISAMAMAEE =22
e SAZIEAIEE (chel & 9l)
- i - o
AR .24 EHH O () - HEAY - BL2 Ofl At o %Eﬁ HR=2
== 1,031,000
01 MXHHMAEE = 5,851,000 7,228,000 N 1,377,000
(=G AR2SIEAZLE(KNESH]) 5,851,000
Xl 4,820,000
& 1,031,000
DEXNRFAHEZALULIIIZH 22O XS 1,783,143 2,257,000 N473,857
2 1,580,000
o= 203,143
403 XX S M S K201 A 1,783,143 2,257,000 N473,857
2 1,580,000
& 203,143
01 MHXSHAHXNE2E X 1,783,143 2,257,000 N473,857
ODEO0I0I KD A 1,783,143
2 1,580,000
= 203, 143
HHSHAL (R3S AHY) 38,260 37,420 840
Jl2&ddl 38,260 37,420 840
Jl2&Hl 38,260 37,420 840
201 Bt A H| 25,840 25,000 840
01 AtR 22l b 25,840 25,000 840
Ogst=2H| 12,400
OJlEANRBES 12,400
O 2&hl 13,440
OS2SR RE=XZAH| 13,440
202 044 12,420 12,420 0
01 2L Y| 12,420 12,420 0
O3S &P RFE 0| 12,420
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A 53,140,039
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A 2o2ZAH=E2 PN 22AEN
My pEUANLRE
Chel 2eloetxry (&)
AR .24 BH-BAGEN) - NRANY - BES 0l &t o8 il HlnE2
22 A erE s 300,000 50,000 250,000
403 UHXISHHSA=0l& 300,000 50,000 250,000
01 XM= E L 300,000 50,000 250,000
OeadtS2dAI22HEH A 300,000
=22 X Of & 4,310,000 3,250,000 1,060,000
Xl 3,400,000
< 910,000
403 MtXISHH S =0l & 4,310,000 3,250,000 1,060,000
Xl 3,400,000
= 910,000
01 XM A2E X 4,310,000 3,250,000 1,060,000
ORAAMEINZLAG(EF)(ANSSH]) 1,300,000
Xl 1,000,000
< 300,000
OFSA4ZIINGALEE(HES) (NS 1,950,000
X 1,500,000
< 450,000
OFAZ2ZX=HFUAML (L) (NS EHI) 1,060,000
Xl 900,000
< 160,000
S NAMNL(EX) 26,662,900 31,079,600 24,416,700
Xl 22,103,000
< 4,559,900
403 MRS E X201 E 26,662,900 31,079,600 24,416,700
Xl 22,103,000
< 4,559,900
01 X SHHMA 28X 26,662,900 31,079,600 24,416,700
DA ST A EH P ALY () (NSE
gl) 260,000
Xl 200,000
= 60,000
OSSN TS (EZE) (NS 1,040,000
Xl 800,000
< 240,000
OSMAUSZZHIYLULS A (ZE) (X
SE&dl) 390,000
Xl 300,000
< 90,000
Oga2AAs2 22 AL (FF)(NSZH) 650,000
Xl 500,000
< 150,000
OS2I NEASIANL(BF)(XNSETH]) 650,000
X 500,000
< 150,000
ORI 2 ESEME(EF) (NSS! 260,000
Xl 200,000
< 60,000
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X 200,000
< 60,000
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= 128,571

01 AXISHHA=2E = 1,128,571 3,257,714 22,129,143
OMASNEH 23S (¢s)(ANESY) 1,128,571
Xl 1,000,000
< 128,571
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Xl 1,000,000
< 128,571
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< 1,362,857
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01 X HHMA=LE L 11,962,857 10,858,571 1,104,286
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220 HE LS H XA 2,032,300 2,512,800 A 480,500
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ot S H XA 1,296,000 1,797,000 A501,000
Jl 648,000
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J| 648,000
o= 648,000
01 AXHNBMNEXZ 1,296,000 1,797,000 A501,000
OS2st22=H X & 1,296,000
Dl 648,000
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ANZEHEA 577,000 480,000 97,000
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OZSol E0I=H 27,000
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CJLFCHAFEH O & CH Ol H] & SO S & AL 100,000
HEHsNEZ2H(EX) 88,000 176,000 A 88,000
Dl 44,000
o= 44,000
308 XX SHHSOIH 88,000 176,000 A 88,000
J| 44,000
o= 44,000
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OdSH=sMEsA 88,000
Dl 44,000
& 44,000
ZAAHE LR 30,600 31,600 A 1,000
201 Yet2 | 22,000 23,000 A1,000
01 At 22l bl 18,000 19,000 A 1,000
Odget=gH| 18,000
OZZIHE L RFRROI=HE 11,400
OSBRI =ZES M 6,600
02 332494l 4,000 4,000 0
O222=22HA 4,000
Ol A0HAHE SR X & 4,000
202 04| 8,600 8,600 0
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